
MULTIGRID SOLVER

Iterative solver

• Consider the system    Au =f   and let v be an approximation of u

• There are two important measures

• The error             e = u – v

• The residual        r = f – Av

• With norm     

• It follows:             Ae=Au – Av  = f – Av = r



Relaxation scheme : Jacobi

• A = L+D+U

• Au = f becomes    (L+D+U) u =f 

• Du =‐(L+U)u +f          



Relaxation scheme: Gauss seidel

• A= L+D+U

• Au =f becomes   (L+D+U)u = f

• (L+D)u = ‐Uu + f

Convergence

• e (new) = R e(old)

• After m iterations

• em  = RM e0

• The iterative scheme converge if 

•









• R = transpose I



Smoother

• GAUS SEIDEL



2 level theory

• Fine grid:                           r = A e

• Restrict:                                  RA e

• Solve on coarse grid:             (RAI)‐1 RA e

• Interpolate:                            I  (RAI)‐1 RA e

• E= I (RAI)‐1 RA e        S=I (RAI)‐1 RA        E=Se

• S2= I (RAI)‐1 RA  I  (RAI)‐1 RA= I (RAI)‐1 RA=S

• S has  eigenvalues 0,1 

• Multigrid error E is not the full error but a projection of e

• Iterations handles the high frequencies.

• Multigrid handles the low frequenccies



Extend 2 levels to multi levels

Coarsening: RS algorithm











MULTIGRID 
IMPLEMENTATION

Coarsening

• Problem 1: take the maximum set

• Strategy: maintain a shorter list

• Problem 2: update the measure

• Strategy: use radix 2 linear merge



Build interpolation

• Problem1: matching 2 rows

• Strategy: linear merge

• Problem2: summing

• Strategy:

• avoid division when only one C point match for the F point

• keep track of the sum

Build restriction

• Problem: take a transpose of sparse array

• Strategy:

• count the elements for rows on the new transpose and get the 
shape

• sequential scan of original array and fill each element at 
corresponding row with incremental counter   



Build coarse array

• Problem: 2 sparse matrix multiply

• Strategy:

• with RAI start with AI product using radix 2 linear merge

• row i of A points to the rows of I for K‐merge

• exploit 1.d0 element of I to reduce the size of the K‐merge     

Gauss seidel

• Unroll dot product by 4

• Combine Residual calculation with last gauss seidel iteration lower 
part is identical

• Combine Residual norm with last gauss iteration 



Multigrid solver

• Rescale the array with 1.d0 diagonal

• Get the number of levels so to get a small array at the lowest grid 
level

• Solve that array with direct sparse solver

• Use F‐AMG to get cheap good start guess

• Keep track of residual on both relaxation and multigrid to exit at 
tolerance level
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Problem name BiCG AMG

※ NOTE coarsetype=1

VFS7_Conduction 146.6 141.3
VFT6_SEP_1D 36.5 44.1
VFT6_SEP_2D_STR 78.6 141.8
VFT6_SEP_2D_UNS 1405.8 1751.4
VFT8_Dam_2D 6.4 7.6
VFT9_AW_3D_UNS 56.8 71.4

VFS2_wall_motion 4.0 4.4
VFS3_Duct_flow(STR) 2.4 2.2
VFS3_Duct_flow(UNS) 9.3 8.3
VFT1_2D_boiling 4.6 4.9
VD10_PSBT 5486.9 5346.8

VFS9_Blockage 6.8 6.9
VFS10_Annulus 4.3 4.4
VD9_STERN 908.4 941.6

VD7_PASCAL 649.5 760.0

VFS8_Turbulent_flow 245.4 279.4
VFS8_Turbulent_ke_3D 89.4 35.3
VFS12_Boron 79.8 65.0
VD3_SUBO 1319.8 1804.5
VD4_Bankoff 3849.8 4058.8
VD5_ROCOM 211.3 242.4

VFT9_AirWater_tetra 351.8 672.6

VFT3_flashing 15.5 10.3
VFT4_cavitation 143.6 161.3
VFT5_gas_plume 88.2 68.6
VFT7_manometric 58.8 38.6
VFT10_Blowdown 521.3 X
VD6_fluidic_device 3038.4 2605.4

4c (100x100x100) 1859.0 1922.6

2D Ductflow (nn=100,000) 1065.5 368.9

2D Ductflow (nn=1,000,000)
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INTEL XEON PHI KNL









KNL MODELS

• 7210           1.3Ghz          DDR4‐2133          64 cores

• 7230            1.3Ghz         DDR4‐2400           64 cores

• 7250             1.4Ghz        DDR4‐2400           68 cores

• 7290              1.5Ghz       DDR4‐2400           72 cores

• All 14nm  

•

• 2018        KNC     10nm more cores  =>100



MANUFACTURERS

• Supermicro

• 1 node Workstation

• Rack 2U with 4 KNL nodes and local disks

• FUJI

• Rack 2U with 8 KNL nodes diskless


